
1. feladatsor – Halmazok

Megoldások
1. Feladat.

• A ∪B = {a, b, c, d, e} = U ;
• A ∩B = {d} ;
• B = {a, b, c} ;

• A \B = {a, b, c} ;
• A4B = {a, b, c, e} ;

•
(
A4C

)
\B = ∅;

• P (B) = {∅, {d} , {e} , {d, e}} .

2. Feladat. A = {∅, {a} , {b} , {a, b}}, B = {∅, {b} , {c} , {b, c}}

• A ∪B = {∅, {a} , {b} , {c} , {a, b} , {b, c}} ;
• A ∩B = {∅, {b}} ;
• A \B = {{a} , {a, b}} ;

• B \A = {{c} , {b, c}} ;
• A4B = {{a} , {c} , {a, b} , {b, c}} .

3. Feladat.

a) ∅ ∈ A
b) ∅ ⊆ A

c) {∅} ∈ A
d) {∅} ⊆ A

e) {{∅}} /∈ A
f) {{∅}} ⊆ A

g) {{∅} , ∅} ∈ A
h) {{∅} , ∅} ⊆ A

4. Feladat. P (P (P (∅))) = {∅, {∅} , {{∅}} , {∅, {∅}}}.

5. Feladat.

a) A \ (B \ C) 6= (A \B) \ C
b) (A \B) \B = A \B
c) A ∩ (B ∪ C) 6= (A ∪B) ∩ (A ∪ C)
d) A ∩ (B ∪ C) = (A ∩B) ∪ (A ∩ C)

e) A = (A ∪B) \ (B \A)
f) (A ∩B) \ (B \ (A ∪ C)) = A ∩B
g) (A4B)4 (A ∩B) = A ∪B

6. Feladat.

aL 81, 3< ´ 8-1, 0, 2< = 8H1, -1L, H1, 0L, H1, 2L, H3, -1L, H3, 0L, H3, 2L<
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bL H-1; 2D ´ @1; 3L
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7. Feladat. A ∪ (B ∩ (C ∪D)) = A ∩
(
B ∪

(
C ∩D

))
8. Feladat. A ⊆ B teljesül, A = B és B \A = ∅ nem teljesül.

9. Feladat.

a)

x ∈ (A ∩ C) ∪ (B ∩D) ←→ x ∈ (A ∪ (B ∩D)) ∩ (C ∪ (B ∩D))

←→ x ∈ (A ∪B) ∩ (A ∪D) ∩ (C ∪B) ∩ (C ∪D)

−→ x ∈ (A ∪B) ∩ (C ∪D)

b)

x ∈ C ∪D −→ x /∈ B ∩ (C ∪D) = B \ (C ∪D)

↗
x ∈ A ∩ C ∩D

↘
x ∈ A ∩ C

−→ x ∈ (A ∩ C) \ (B \ (C ∪D))

10. Feladat.

• A uA = A ∩A = A
• (A uB) u (A uB) = A uB = A ∩B = A ∩B
• A ∪B = (A uA) u (B uB)
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